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FugwiEd w1 wEtaE oV (F) #ow srentE gt &
(€} ¥, =y tH (X yn-t} . Prove that the intersection of any two subspaces of a
(d) None of these : vector space V¥ (F) is also a subspace of V {F).
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Section-B' zeled e W (2, 1, 4); (1, -1, 2); 3, 1,-2), R*(R)
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(Short Answer Type Questions) Show that the vectors (2, 1, 4); (1, -1, 2) and (3, 1,

—2) form a basis for R? (R).
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Note : Attempi all the five questions. One question
Jrom each unit is compuisory. Each question

carries 2 marks. Show that the Kemnel of a homomorphism is & subspace
' of U(F).
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LD
Find eigen value and comesponding Eigen vector of the
matrix A :

Unit-ﬁ}
4, o o 3l p PR aR PR wEfE P (F) ¥ TR
¥, 7 guid PR—

Jot B +fa-Bf = o) +2fBF

If ¢, p are veotor in an inoer product space ¥ (),
'."'F

prove that ; y

lo+Bf +fe-BF =2{al +208)°
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Ryt
Or

AR-TOR wEiE W el afm T |
Define inner-product space with an example.
vel-Iv

Unit-IV

. Tefgvrem fufy % wdm & wE L -x-4=0 T

Ta 919 Hifa | -
By using Bisection method find the root of the equation
x'—-x—-4=10. |
g L)
Or

AP AU | 52 - 5+ 2 =0 F g TR W)

Find the root of x’ —5x+2=0 by using Newton-
Raphson method.
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6, tieu-emdy fafy & wer wifva— . gz’
AR
10x+ y+z=12 ' Section-*C’
2x+10y+z=13 (¥ zvrie we) Sx5=25
xty+iz=7 (Long Answer Type Questions)
Find Apply Gauss-Jordon method solve :
o Hz ;o ulw 9E & I g voE e @
10x+ y4+2z=12 B
T W7 B Srd § nREE T 5 I F
2x+10y+z=13 #
¢
¥ry+3z=1 Note : Attempt all the five questions. One question
A from each unit is compuisory. Each question
Or carries 5 marks,
-HHaem-fafs & g0 Fmwa wiwm = ot 9 @ A wRi-1
i R A FFRA—- Unit.I
LA S @ ofre wAtEE Fadita fafed o fog
&Y y(0)=0, k=02 7 ¥ T i
. st |
Using Euler’s method solve the differential equation in State and prove dimension theorem for vector space.
If o six steps ; p——
prov & ; Or
a—=x+y; ¥(0)=0, p=0.2 {
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dim%-—*dimlf‘—dimﬁ’

If # be a subspace of a finjte dimensional vector space
V (F), then prove that

dim£= dimV —dim#
W

-1l

Unit-I1

. aftw gHlE WERM W ey W S fafed
ain fag Fifad

State and prove fundamental theorem of vector space
homomorphisen.

P13
Show that the matrix A is diagonalizable :

Unit-TI

0. Fhi-ars st = we fafed T e St

State and prove Cauchy Schwariz Inequality.
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< Or
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Prove that every finite dimensional inner product space
has an orthonermal basis.
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o 1931] 1641 1051|1961 [1971 [ 1981

famt T o 121t5]20 |27 [ 39| 52

Estimate the sale of 1966 Bging Newton’s formula for
forward interpolation :

Year 1931|1941 [ 1951 [ 1961 11971 [ 1981

Saleinthousand | 12 | 185 | 20 | 27 | 39 | 52
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fram A I B S
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6 gy o 3
Evaluate _[? e 2 by is Simpson’s 3 rule of divided

into & equal part.
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11. SAfqeR faiy & wam & yasE TE F x =1 T
y % o wfa vt § 5o gm afwd—

@ _
=5+ p(0)=1
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Using Euler's method solve the differential equation for
Yatx =1 in five steps -

2

& :
dl'_x Rab }'{ﬂ):l
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Or
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x=1-1 =R 0 ¢ fet T #—
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Use Runge-Kutta method of fourth order to findy when
x=1-1in steps of 0.1 given that :

a_b’_zxz_’_ 2
d Yoop()=1-s
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B, Sc. (Third Year) Exantination, 2021-22
M&TEEM&TI“_CS
(Limear Algebrs and Nuherical Analysis)
Time Allowed ; ﬁrm hours ‘

\ ]
Maximumi Marks : 40 I
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Note : Atrempt questions of all three sections as |
directed, Disiribution of marks Is given
against each section.

m_l ET'
Section-‘A’

(e W) Lx1=%

{(Objective Type Questions)
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Wiz Foferes o 7T F I ) veow T

1 aw

Note : Anempt all the following questions. Each

guestion carries | mark.

. T IW F 95 -

Choose the correct angwer :

W

uEw o, p B Yews: @ T € af3—
(3) aw+bB=0 "

(b) ax+ 8320

{c) af+adb=0

(@ ¥ A TE

The set of vectors o, [ is called linearly inde-
pendent if :

(a) a+5p=0

(b} aou+bp 0

(€} wf+agb=0

(d} None of these
G814

(i)

{iil)

131

¢os0 sinB

T A=[sinﬂ —msﬂ] #mqﬁ%_
:(a} +]

(b) *cos@

{¢) £sind

(d) cos®, sind

Eigen value of A:[msa i@ } are

sin@ —cosH

a) +1

{h} 2cos0
(€) tsinf v

{d) cosP. sing

TH I OE g T d wfw o o B
Wawa: W ¢, 9fe ain Fem afz—

@ fo+d|=|of+{f]
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®) [o+B <o +]B]

© fa+pl s]af +|B[

() ¥ ¥ wif T P
Two vector ¢ and B in an inner product sphce
are orthogonal if and only if :

@ fJo+B|=fef+ B
®) [o+B|sfel+]B]

© |o+B ja|*+|B]

{d) None of these

iR Al 4 g8 x* - 4x—-9=0 FT YA
Wfethed W EM—
(a) 3-5

(b) 2
(¢) 25

) ¥ &
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[5]
The first approximation of the root of

x’ —4x—9 =0 using bisection method is :

(a) 3.5

M) 2

) 25

{d) None of these

sifmere fafy | y #1 nal Wi

xax =x,+nh T E-=
@ ¥, = Yo+ B %y 3o)
®) J-’..=J*o*-‘!"r[x;.-1-}’,._:)

© ¥, =Y+ (30 o)

() 7 & = =l
By Euvler's method #* approximate value of y at
x=x, =x +nhis:

@ ¥, = Yot B (X ¥0i)

G314 FTO




